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Province of the

EASTERN CAPE

EDUCATION

TECHNICAL MATHEMATICS PROGRAMME FOR GRADE 10 LEARNERS FROM 18 MAY -12 JUNE 2020

TOPIC: TRIGONOMETRY

MARKS IN EXAMINATION PAPER: 40 +/- 3 MARKS OF PAPER 2

MAIN RESOURCE(S) SUGGESTED: SASOL INZALOTEXTBOOK

ADDITIONAL RESOURCE(S): ANY APPROVED TEXTBOOK AND/OR STUDY GUIDE

MEDIA:
» ECDOEWEBSITE.
> DBE WEBSITE.

USE SASOL INZALO TEXTBOOK (PAGE 149 -236)

Read and follow the explanation aboutthe topic/ concept. Read Introduction on page 81.

Follow and practice Examplesindicated.

Thendo Investigations/ Exercises on Learner Guide (LG) withoutlooking at the solutions first.

Thendo corrections.

Double or triple checkifyou are able to do Activities on your own withoutlooking at the solutions until you
master the concept(s).
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WEEK 1: 18 - 22 MAY 2020

DATE EXAMPLES EXERCISE PAGE(S)

18/05 Example onpage 152 (Length ratio) | Exercise on page 152 152

19/05 Read pages 153 — 155 Exercise on page 156 156

20/05 Worked exampleson page 158 — 159 | Exercise on page 160 160

21105 Worked Example onpage 161 Exercise on page 163 163

22/05 Learn more aboutRight Angled Exercise on page 165 165
Triangles on page 164

WEEK 2: 25 - 29 MAY 2020

DATE | EXAMPLES EXERCISES PAGE(S)
25/05 | Readand follow ‘Defining the Exercise on page 168 168
Trigonometric functions on pages 166 —
168
26/05 | Worked Example on page 169 Exercise onpage 170 170
27105 | Worked Example on page 170 Exercise onpage 170 — 171 170-171
28/05 | Worked Example on page 174 Exercise on page 174 174
29/05 | Worked Exampleson page 182 - 183 Exercise on page 183 — 184 183-184
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WEEK 3: 1 -5 JUNE 2020

DATE EXAMPLES EXERCISES PAGE(S)

1/06 Worked Example onpage 184 - 185 | Exercise onpage 185 185

2/06 Worked Examplesonpage 186— 187 | Exercise onpage 188 — 189 188-189

3/06 Worked Example onpage 189-190 | Exercise onpage 191 - 192 191-192

4/06 Worked Example on page 193 Exercise on page 194 194

5/06 Worked Example on page 195 Selected Exerciseson 196 - 200

page 196 — 200

WEEK 4: 8 - 12 JUNE 2020

DATE EXAMPLES | EXERCISES PAGE(S)

8/06 Use your calculatorto plotthe graphs of sin and cos following guidance 201-205
and exercises from page 201 to 205

9/06 Follow explanations and do exercises from page 206 to 209 206-209

10/06 Use your calculatorto plotthe graphs of sin and cos following guidance 210-218
and exercises from page 210 to 218

11/06 Investigate the effects of a and q in the trigonometric graphs.Read and 219- 230
follow explanations and do exercises from 219 to 230

12/06 Write a Topic Testusing the attached question paperonpage 3 — 5 of this | 3 -5 of this document.

document.

Use Marking Guidelineson
page 6 — 9 of this document
to mark.

USE ANY PREVIOUS YEARS’ QUESTION PAPERS TO REVISE TRIGONOMETRY.USE ECDOEWEBSITETO
ACCESS PREVIOUS YEARS’ QUESTION PAPERS IF YOU DO NOT HAVE HARD COPIES!

REMEMBER,PRACTICE MAKES PERFECT!

SO, PRACTICE,PRACTICE AND PRACTICE!
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TRIGONOMETRY ON EXEMPLAR QUESTION PAPER 2016 QP

QUESTION 2
2.1 If x=43° and y =32,5° use a calculator to find the values of the following:
2.1.1 sin(x+ y) (2)
x=y
2.12 Sec[ ) ] (2)
22 If 13sina+5=0 and 90° <@ <270°, determine the value of the following with

the aid of a sketch:

2.2.1 cota €Y

222 cos o + tan o (3)

23 Solve for x, if cotx =tan53° +sin233". 3)
[14]
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QUESTION 3

31 PQ 1s a vertical wall that 1s 5 m high A ladder, SE, 1s placed agamnst PQ such that
S is 150 cm below P and the ladder forms an angle of 63° with the ground.

P
F F
150 cm
_¥ 5
Sm
¥ ] ||l53°
Q
ji1 Calculate, in metres, the length of 5Q. (1)
312 Calculate, in metres, the length of the ladder SP. 2

313 Anocther ladder 1s placed at point E on the ground and reaches pomt P
on the wall This ladder makes an angle of 15" with the wall (that is
SPR. =13"}). Calculate the length of the ladder in metres. ()

3.2 AB. a verfical tower, 15 45 m lngh Two boys are standing on either side of the
tower at C and D respectively, such that C, B and D lie in a siraight line.
The angle of elevation from C to A is 527 and the angle of elevation from D to A

is 38"
A
45 m
520 — g
C B D
il Calculate the length of BC. (3)
322 How far apart are the boys standing from each other? 3)
[13]
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QUESTION 4
Given: fix) =% tan x and gix)=cosx+1

41 Use the set of axes provided on the attached DIAGEAM SHEET and draw the graph

of f and g in the interval x=[0";360"]. (3)

42 Wnte down the equation(s) of the asymptote(s) of f in the given mnterval. (1)

43 Wnte down the range of g 2

4.4 For which value(s) of x is fix)=gix) for x=[90";360°]7 1))

45 For which value(s) of x 15 fix) = gix) for x=[90":270°17 ()]
[12]
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TRIGONOMETRY ON EXEMPLAR QUESTION PAPER 2016 MEMO

QUESTION 2
211 gn(x+y)=sin(43+32,3) ¥ substimzon
_ answer ooly full marks. v ANSWET
= I:I:';'.' rd-..}
(2
2.1.2 | ‘x—y [43-32.3%
580 e, ——
7 || 25 o
! 1 v'changing to cos
= —— answer only full marks
cos| == | v ANSWET
7 @
= 1:-EIIII
221 [ 13gina+ 5 =0 and 90" < & < 270" - voorrect dizagram
. -5 PR B S et
5ina@ = — . 1 13
13 J - *
2 4 (—5)2 = 132 ! 13
=+ (—5)- =13 v x=—12
~x=-—12
—12
cota = 1__ _E + ANSWET
=k [ ]
(4
222 17 5 T
COS O + TR0 - +— v —
13 12 13
—144+ 65 oo
T 136 12
70 v ANSWET
T 156 (3)
2.3 COt ¥ = tan 53" +5in 233"
1 =11 -~
=tan 53 +3in 233 p 1
tan x
tan x
AL X - ———— —
flAns3 +sim 233
af 1 ) ¥ tan™
X=tam” | — — | tan
| fam 33 +5in 233 )
ot I v answer
- §2,15" Answer §2.12"  two marks 3
=
_\‘JL EASTER:
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QUESTION 2

311 |58Q=5m—-15m=35m v gnewar
|:1]
3.1.2
y gin §3° = :E 3.5
¥ gin 637 = —=—
13 ] SR
gin §3° = —
SE
v answer
SR =393m (2)
313 BQ
cosls -ﬁ \'"CI:IE].E'..
PO
PR = __‘_:. +" making PR the
coRe subject of the
PR = S : formula
cosls v substtution
5,18m
v ANSWeT
Ot
PQ OF.
sim 75" -E <'5in75"
PR-—TE v making DR the
sim T5 subject of the
Sm formula
" sin75 v substifztion
- 5,18m ¥ AmsTWer
|:-'|-:|
321 AB
= =tap 52°
BC v E = fam 52°
- BC
4_3 _— tu 3 Jo
BC )
c
.EC— -1'5 W BF- 4_. n
BC=3516m v ANSWET
(3)
322 AB 45
—— =tan 38* —— = tan 38°
BD BD B e
o BD
BD = 57,460m vlen=th of BD
CD=3516m + 57 ,60m
CD =92 T6m P — /
ambileyo!
(3)
[13]
] :



QUESTION 4
41 '.-I:' | | r ! | | ! |
-I_—-H_"‘*-\.\H" I |r | '-'".I]. int I:Ifg
N T |
l ' d ¥ X intercepts of
| { vy intercept of
T x | vshape of f
il ]| Wl e Wi T 13 AR TR TR 3 .rl;'
(3)
~H
42 |x=9%0" andx=270"° ¥ answer
(1)
43 |veE[H2] v v amswear with
OEO0=y=2 correct notation
(]
14 |neo®o) + 180"
¥
(2)
45 | 180%<x=<270° + v answer with
OF x € (180°; 270%) Correct notation
2
[11]
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